
Environmental Product Declaration
Information Disclosure Summary

In accordance with ISO 14025 and EN 15804 for

Zhejiang Daocheng Bamboo Industry Co., Ltd
Xinhe, Linpu, Xiaoshan, Hangzhou, Zhejiang, China 311251
T: 86-571-57163765
W: dassoGroup.com
E: info@dassoGroup.com

From

 The International EPD® System 

EPD International AB

Bill Kung, Ecovane Environmental

Zhejiang Daocheng Bamboo Industry Co., Ltd

dasso traditional bamboo

S-P-01925

2020-4-1

2025-4-1 (5 years)

EPD programme

Programme operator

Third-Party Verifier

EPD Owner

Product Name

EPD registration number

Publication date

Valid until

dasso traditional bamboo



SCOPE AND GOAL

EPD Scope:  “cradle-to-gate with options”, including transport to building site and end of Life stage. 

Geographical scope: Global

Declared Unit: the declared unit aims at providing a reference to which the data inputs and outputs are normalized in 
such a way that the same level of service is represented. The declared unit for this study is 1 kilogram (kg) of dasso 
traditional bamboo boards (flooring, wall cladding, furniture panel, structure lumber). 

EPD Goal: according to the data analysis, it indicates the potential environmental impact of dasso traditional bamboo 
during the whole lifespan (35 years).

 

dasso Traditional Bamboo is made from bamboo strips that are cut from the bamboo stems. It combines bamboo strips 
with glue to realize horizontal and vertical structure which shows rather rustic structure of bamboo material.

Dasso traditional bamboo can be process into bamboo veneer, panels, furniture, liner, acoustic boards and fire retardant 
boards. They are green, environmental friendly and high-quality. Customization is available. They can be used for interior 
decoration, such as facades, wall panels, ceilings, grilles, furniture, etc., and are widely used in commercial places and 
residence projects such as airports, theaters, museums, office buildings, hotels and resorts.
 

LCA refers to life cycle assessment, it assesses environmental impacts associated with all the stages of the life-cycle of 
dasso bamboo product. The goal of LCA is to analyze the environmental effects of products by quantifying all inputs and 
outputs of material flows and assessing how these material flows affect the environment.

PRODUCT & APPLICATION

LCA DESCRIPTION

LCA-MODULES

Product Stage Use Stage End of life stage
Resource 
recovery
 stage

Construction
process stage

R
aw

 M
at

er
ia

l

Tr
an

sp
or

t

Tr
an

sp
or

t

Tr
an

sp
or

t

W
as

te
 p

ro
ce

ss
in

g

di
sp

os
al

R
eu

se
-R

ec
ov

er
y-

re
cy

cl
in

g-
po

te
nt

ia
l

U
se

M
ai

nt
en

an
ce

R
ep

ai
r

R
ep

la
ce

m
en

t

R
ef

ur
bu

sh
m

en
t

O
pe

ra
tio

na
l e

ne
rg

y 
us

e

O
pe

ra
tio

na
l w

at
er

 u
se

D
e-

co
ns

tr
yc

tio
n 

an
d 

de
m

ol
iti

on

M
an

uf
ac

tu
ri

ng

As
se

m
bl

y/
In

st
al

l

A1 A2 A3 A4 C1 C2 C3 C4 DA5 B1 B2 B3 B4 B5 B6 B7

X X X X X X X X XMND MND MND MND MND MND MND MND

Description of the System Boundary(X=INCLUDED IN LCA/MND=MODULE NOT DECLARED) 

The life cycle stages below have been covered:

A1-A3: Product stage (raw material acquisition, transport to manufacturing site and manufacturing)
A4: Construction stage (transport to user site)
C1-C4: End-of-life stage (deconstruction, transport, waste processing and disposal)
D: Resource recovery stage (reuse, recovery, recycling)

Excluded lifecycle stages:
The installation stage on the construction site and the usage stage of the product are excluded from this study.



LCA RESULT

dasso traditional bamboo - Potential Environmental Impacts: 

 The results presented below are for the listed environmental categories for 1 kg of dasso traditional bamboo board and 
are aggregated for A1-A4, C1-C4 and D stages. The results are presented for dasso traditional flooring and panel. 

Additional environmental information

The formaldehyde emission of dasso traditional bamboo is no more than 0.1 mg/m2h and the product reaches therefore 
the emission level E1 according to GB/T 17657-2013 (Test methods of evaluating the properties of wood based panels 
and surface decorated wood-based panels).

Please notice this is the information disclosure summary, contact info@dassogroup.com or visit www.environdec.com to 
get the official EPD report. 

* C3-CN refers the products are used and the end of life stage is in China; 
* C3-EU refers the products are used and the end of life stage is in European.

PARAMETER UNIT
Product stage Costruction  

process stage End of life stage

A1 A2 A3 A4 C2 C3-CN C3-EU

Global warming potential (GWP) kg CO2 eq. 3.90E-01 1.20E-02 4.50E-01 1.70E-01 2.29E-02 -2.22E+00 -7.44E-01

Depletion potential of the stratospheric ozone 
layer (ODP) kg CFC 11 eq. 9.80E-09 2.10E-09 1.90E-08 2.90E-08 3.78E-09 4.82E-07 3.84E-07

Acidification potential (AP) kg SO2 eq. 2.90E-03 4.80E-05 1.80E-03 3.10E-03 8.84E-05 -1.78E-02 9.04E-04

Eutrophication potential (EP) kg PO43- eq. 4.60E-04 1.60E-05 4.50E-04 3.90E-04 3.39E-05 4.89E-04 -8.90E-04
Formation potential of tropospheric ozone 
(POCP) kg C2H4 eq. 2.10E-04 2.10E-06 7.10E-05 1.00E-04 4.02E-06 -5.60E-04 1.48E-04

Abiotic depletion potential – Elements kg Sb eq. 8.00E-07 1.70E-08 2.00E-07 1.40E-07 1.59E-08 2.47E-05 2.45E-05

Abiotic depletion potential – Fossil resources MJ, net calorific value 7.10E+00 2.00E-01 4.70E+00 2.70E+00 3.62E-01 -8.53E+00 4.25E-01

Primary energy 
resources – 
Renewable

Use as energy carrier MJ, net calorific value 6.10E-02 7.60E-03 8.40E-01 1.50E-01 1.90E-02 3.60E+00 1.70E+00

Used as raw materials MJ, net calorific value 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

TOTAL MJ, net calorific value 6.10E-02 7.60E-03 8.40E-01 1.50E-01 1.90E-02 3.60E+00 1.70E+00

Primary energy 
resources – Non-
renewable

Use as energy carrier MJ, net calorific value 3.40E-02 3.60E-04 8.00E-02 4.10E-03 8.20E-04 -1.50E-01 1.80E-01

Used as raw materials MJ, net calorific value 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

TOTAL MJ, net calorific value 3.40E-02 3.60E-04 8.00E-02 4.10E-03 8.20E-04 -1.50E-01 1.80E-01

Secondary material kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Renewable secondary fuels MJ, net calorific value 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Non-renewable secondary fuels MJ, net calorific value 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Net use of fresh water m3 0.00E+00 0.00E+00 1.71E-03 0.00E+00 0.00E+00 0.00E+00 0.00E+00


